SSC CGL/CHSL TIER 2 (CRASH COURSE)

A train, 150 m long , takes 30 seconds to cross a bridge
500 m long. How much time will the train take to cross
platform 370 m long?
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(1) 36 sec
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(3) 24 sec
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Without stoppage a train travels at an average speed of 75 km per hour and
with stoppages it covers the same distance at an average speed of 60
kmph . How many minutes per hour does the train stop?
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()[20min]
(2) 12 min
(3) 14 min
(4) 13 min




SSC CGL/CHSL TIER 2 (CRASH COURSE)

A train passed by a man standing on the platform in 7
seconds and passed by the platform completely in 28
sec. If the length of the platform Is 330 metres, what Is

the Iength of the tram’>
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SSC CGL/CHSL TIER 2 (CRASH COURSE)
A train running at the speed of 90 kmph crosses a 250
metres long platform in 22 sec . What is the length of train?
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(1) 280 m
(2) 260m
(3) 250 m




SSC CGL/CHSL TIER 2 (CRASH COURSE)

The distance between two stations, Delhi and Amritsar, is 450 km . A
train starts at 4p.m from delhi and moves towards Amritsar at an
average speed of 60 kmph. Another train starts from Amritsar at 3.20

p.m. and moves towards delhi at an average speed of 80 kmph. At what
time will the both trains meet?
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

A train travelling 25 km an hour leaves Delhi at 9 a.m and another
train travelling 35 kmph starts at 2 p.m. In the same direction. How

many kms from Delhi will they be together ?
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(2) 437 km
(3) 348 km
(4) 348 km




@ SSC CGL/CHSL TIER 2 (CRASH COURSE)

Two trains started at the same time, one from A to B and the other
from B to A. If they arrived at B and A respectively 4 hours and 9 hours
after they passed each other, the ratio of the speeds of the two trains
was:
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Vande Bharat express iIs 14% faster than Rajdhani express. They start
from Delhi at same time and reach Varanasi at same time because
there is a obstruction for Vande Bharat express of 7 minutes. Find
speed of Vande Bharat express Iif distance between two destination is
285 km.
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a)300 km/h

0)318 km/h

c) 442 km/h

d) none




@ SSC CGL/CHSL TIER 2 (CRASH COURSE)

A train running at the speed of 144 km/hr crosses a man who is
running at the speed of 18 km/hr in opposite direction of train in 8 sec.
Find time taken by train to cross a platform, whose length is 66 (2/ 3)
% more than length of train?
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(a) 36 sec

(b) 24 sec

(c) 12 sec

(d) none




@ SSC CGL/CHSL TIER 2 (CRASH COURSE)

Train-A leaves Delhi at 8:00 A.M. and reaches Lucknow at 4:00 P.M.
and train-B leaves Lucknow at 1:00 P.M. and reaches Delhi at 5:00
P.M. Find at what time both trains will meet each other?
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(a) 2:30 P.M.

(b) 2:00 P.M.

(c) 3:00 P.M.

(d) none




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Train A crosses a platform of 98 m length in 24 sec. Another Train B of
same length as Train A crosses a pole in 12 sec. If speed of train Ais
20% more than speed of train B. Find length of train A
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(a) 80 m

(b) 65 m

(c) 70 m

(d) none




SSC CGL/CHSL TIER 2 (CRASH COURSE)

A metro train A starts from Kashmere Gate at 6:00 AM to reach
Chowk at 7:00 AM while another train B starts from Chowk at 6:20
AM to reach Kashmere Gate at 7:00 AM. At what time both trains will

meet each other If distance

netween stations 1s 24 km.
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(a) 6:32 AM
(b) 6:36 AM
(c) 6:40 AM
(d)none




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Train A travelling at 72 kmph crosses another train of half of its length
travelling in opposite direction at speed of 90 kmph in 6 seconds. If
train A crosses a platform in 29 seconds, then what is the length of
the platform?
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(a) 400 meter

(b) 540 meter

(c) 480 meter

(d) none
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

A train crosses a bridge half of its length with speed of 144 km/hr In
one minute. If train is running with 50% of its speed, then find in how
much time train will cross a platform whose length is equal to the
Iength of that brldge (in minutes)?
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(a) 8

(b) 6

K

(d) none




